1/c do/dM_

Ratio to ALEPH

=
o
w

=
o
N

10

0.5

1

D>
=

89 Ge\( ee

m ALEPH
--G-- Pythia 6.428 345
—A— Pythia 6.428 370
Pythia 6.428 ambtl
—— Pythia 6.428 z2

y*/Z (Hadropic)

Rivet 3.1.10, = 2.1M events

T T |IIII|||||__I|_IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| I

L 111 |IIII|IIII_T|_IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

55

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


